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I. Cloze (20%; 2% each)

The Fox and the Horse 1is a story written by Brothers Grimm. Here is what the story
is about.

A farmer had an old, weak horse. The farmer did not want to keep the horse any
more. So, the farmer told the horse that he wanted the horse to leave the farm. Also, the
farmer told the horse that the horse could not return to the farm until the horse was
stronger than a lion.

The horse felt _(1) and went into the woods looking for shelter to avoid the rain
and the cold weather. Then, the horse came upon a fox. The fox asked the horse why he
looked so sorrowful. The horse told the fox that his owner _(2) for riches, so his owner
forgot about how _(3) and hardworking he had been. The fox then came up with a plan
to help the horse.

The fox told the horse to lie down and look like he was dead. Next, the fox went to
a nearby _(4) in which a lion lived. Then, the fox told the lion that there was a (5) of
a horse close by. The fox suggested to the lion that he could tie the horse’s body to the
lion’s tail so that the lion could _(6) the horse home and eat him.

The lion agreed to go with the fox. When they were at the horse’s body, the lion
lied down next to the horse’s body so that the fox could (7) the horse’s body to the
lion’s tail. But, instead, the fox tied the lion’s legs together so tightly that the lion could
not get _(8) . After that, the horse pulled the lion back to his owner’s place.

The horse told his owner that he was tough enough to _(9) the lion and tie him up.
The owner’s heart became soft and _(10) . The owner allowed the horse to live in the

stable. The owner fed and cared for the horse for the rest of the horse’s life.

1. (A) ghetto (B) goggle (C) gloomy (D) geometry
2. (A)curved (B) craved (C) cylinder (D) cinnamon
3. (A) fungus (B) florist (C) faithful (D) frigidity

4. (A)den (B) debut (C) decipher (D) distraught
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5. (A) cactus (B) carcass (C) calcium (D) compressor
6. (A)drag (B) doctrine (C) discursive (D) discordant

7. (A) bind (B) beacon (C) bachelor (D) bureaucrat

8. (A) loss (B) loose (C) lodgment (D) locomotion
9. (A)overt (B) outlaw (C) orthodoxy (D) overpower

10. (A) regime (B) respite (C) respired (D) relented

I1. Reading Comprehension (30%; 2% each)

Great Basin National Park takes its name from the vast region in the western United
States covering most of Nevada and significant portions of Oregon, Utah--even
stretching into California, Idaho, and Wyoming. So named by explorer John C. Frémont
in the mid-1800s, the region actually comprises not one but at least 90 basins, or valleys,
and its rivers all flow inland--not to any ocean. All moisture in this arid bowl evaporates,
sinks underground, or flows into salty lakes.

This creates optimal conditions in groves across the park for the Great Basin
Bristlecone pines, the oldest non-clonal species (which reproduce with genetic variation)
in the world. The slow-growing trees live at high elevations on limestone ridges, through
unforgiving conditions including high winds and temperatures well below freezing.

Some trees are more than 3,000 years old--having lived through ice ages, volcanic
eruptions and the rise and fall of countless empires.

The oldest specimen, known as the Prometheus tree, was at least 4,862 years old
when a graduate student cut it down for research purposes in 1964. It was older than
Egypt’s Great Pyramid of Giza, which was completed in 2560 BC.

The easiest way to see these gnarled trees that have been twisted by wind, water,
snow, and time is to go to Wheeler Peak, at 13,065 feet the second highest mountain in
Nevada. Look for them in a grove on the northeast side of the mountain, along a 1.5

miles trail from the Wheeler Peak campground.

11. Which of the following states is a part of the Great Basin?
(A) Nebraska
(B) Arkansas
(C) California
(D) Kansas



12. According to the passage, which of the following statements is true?
(A) All moisture in the Great Basin region flows into the ocean.
(B) Great Basin Bristlecone pines were named after John C. Frémont.
(C) Great Basin Bristlecone pines usually live in extremely hot temperatures.
(D) Wheeler Peak is located in Nevada.
13. Which of the following is the best title for this passage?
(A) A Brief History of the Great Basin.
(B) The Earth’s Oldest Trees Live in This U.S. Park.
(C) The Effect of Climate Change on the Great Basin Bristlecone.
(D) Five of the Best Sightseeing Spots in Great Basin National Park.
14. Which of the following statements is true regarding the Prometheus tree?
(A) It was cut down for business purposes in 1964.
(B) It is younger than the Great Pyramid of Giza.
(C) It was at least 4,862 years old.
(D) It was a bonsai tree.
15. Which of the following words is closest in meaning to “gnarled” in the final
paragraph?
(A) Deformed
(B) Beautiful
(C) Terrible
(D) Straight

For more than 20 years, Yandex has been known as “Russia’s Google™: It began as
a search engine in 1997 and still has a 60 percent share of the Russian search market.
But for the past decade, this tag has understated the company’s inescapable ubiquity in
Russians’ daily life. Yandex Music is the country’s leader in paid music streaming, and
Yandex Taxi is the top ride-hailing app. Millions of Russians use Yandex Navigator,
Yandex Market, Yandex News, and Yoo Money (formerly Yandex Wallet) to get around,
shop online, read, and spend money.

The CEO of Yandex has only recently begun to make his company less reliant on
its Russian business--and on the whims of President Vladimir Putin--by tiptoeing
westward. Yandex Taxi formed a joint venture with Uber in 2017, and in 2020 Yandex
began testing self-driving cars in Ann Arbor, Michigan. Last year, the Yandex Rover
robot, something of a six-wheeled Igloo cooler, began delivering food via a partnership
with Grubhub to college campuses in Arizona and Ohio, with plans to expand to 250
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American campuses. Yandex had also launched delivery services in London and Paris.
On the day of our call, Yandex had a $16 billion market capitalization on Nasdaq, and

about 85 percent of all its shares were traded in the United States.

16. According to the passage, which of the following is not related to Yandex?
(A) Yandex Eats
(B) Yandex Taxi
(C) Yandex Music
(D) Yoo Money
17. Which of the following statements is true about Yandex?
(A) It has a 60 percent share of the Russian music market.
(B) Russians nowadays rarely use Yandex.
(C) It 1s known as “Russia’s Yahoo.”
(D) It started out as a search engine.
18. Which word is closest in meaning to “tiptoeing” in the last paragraph?
(A) Creeping
(B) Speeding
(C) Attacking
(D) Confronting
19. According to the passage, which of the following statements is true?
(A) Yandex has launched delivery services in London and Tokyo.
(B) In 2020, Yandex began testing self-driving cars in Ann Arbor.
(C) The Yandex Rover robot is planning to expand its services to 250 European
campuses.
(D) About 85 percent of Yandex shares are traded in Russia.
20. According to the passage, what is implied?
(A) Foreign firms do not want to cooperate with Yandex.
(B) Yandex is losing money overseas.
(C) Yandex will drift further away from Russia.
(D) Yandex is nearing bankruptcy.

Taika Waititi grew up in New Zealand--his father was Maori of Te Whanau-a-Apanui
descent, his mother Russian-Jewish--and spent his thirties making small, cultishly popular
films. Two of these, Boy and Hunt for the Wilderpeople, featured primarily Maori
characters and actors and were set in poor, rural areas similar to where Waititi was raised.
Both movies felt radical--the unfamiliar characters and situations, the startling mix of
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brutality and humor--but also sweetly affectionate, even loving. Waititi has said that he
doesn’t make “Cannes-style films”: the kind of depressing dramas where, as he once put
it, “everyone is a prostitute and they all die in the end.” But he also doesn’t make
conventional comedies, with their two-dimensional characters and steady barrage of jokes.
Instead, his movies are somewhere in between, or both at once--a sustained high-wire act
where moods mix and shift in exhilarating ways. While dramatic movies tend to build
slowly, in a single dark register, Waititi’s will often move abruptly from a slapstick
moment to a tender or heart-rending one, with devastating effect.

In the six years since Wilderpeople, Waititi’s career has gone vertical. In 2016 he
made Thor: Ragnarok, reinvigorating the stale franchise in part by poking fun at it. After
that, he wrote, directed, and starred in the Oscar-winning Jojo Rabbit, about a lonely boy
in Nazi Germany who has Adolf Hitler, played by Waititi, as his imaginary friend. Since
then, Waititi has directed and acted in episodes of The Mandalorian, produced and
costarred in the HBO Max series Our Flag Means Death, played the tech-bro villain in

Free Guy, and cocreated--the man works a lot--the FX/Hulu series Reservation Dogs.

21. According to the passage, which of the following statements is true?
(A) Taika Waititi spent his thirties making action blockbusters such as The
Mandalorian.
(B) Taika Waititi sometimes plays characters in his own films.
(C) Taika Waititi’s mother was of Maori descent.
(D) Most of Taika Waititi’s films are conventional comedies.
22. Which of the following films was net directed by Taika Waititi?
(A) Jojo Rabbit.
(B) The Dark Knight.
(C) Hunt for the Wilderpeople
(D) Thor: Ragnarok
23.What is Taika Waititi view on “Cannes-style films”?
(A) They are scary and intense.
(B) They are poorly made.
(C) They focus too much on action.

(D) They are depressing and too similar to one another.
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24. According to the passage, what are the Taika Waititi films like?

(A) They tend to build up suspense very slowly.

(B) They are often very depressing and heart-wrenching.

(C) They focus on having a steady barrage of jokes.

(D) They often shift between funny moments to a heart-rending one.
25. According to the passage, what can we infer about Taika Waititi?

(A) He grew up in a busy urban area.

(B) His films are “Cannes-style films.”

(C) He is very humorous.

(D) He seldom pokes fun at movie.
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